_ 111
X420 +3x+1 =09 Al &= a.B,yet Tt f,B,f% o=
a Y
Sh= AR A 0] X3 4+ ax? +bx+c = 0€ W, abc 2] FH=2 Fo1A?
® 2 ® 3 ® 4 @ 5 ® 6



1 )
ALY x+y+z= —3 Wyt = —g, 0z = -1& HEA 7=

el (x,y,2) Q] HFE?

@® 374 @ 47 @ 57 @ 67 ® 77



3.

AHERA & +ax? +bx-3=10 9

a.b o F ab 9 FL? (R i= V1)

@ -15 @ -10 ® 0

@ 5

® 10



4. AR B -7+ px+q =09 T T3+ V20|t
P, ¢ S FAE W, p+q° A2

D 6 @ 10 ® -2 @ -1 ®1



5.

vyl THEF A4 {"”y:‘g

2] k9] #he o, 7t = me k9] 2k

® -2 @ -1 ® 0

o
=

o a7t $49) BE

2x+ (k—-1)y=6

B sHA, a+p9] F2?

@ 1 ® 2



6. xyo AdHTFAN ax+y=1,x+ay =12 Zo] EA5t7] Y3 a2

D a2 @ a==+1 ® az+2

@ a+-1 ® a+-2



7. <9

of

84 = =Sk x,yoll Hish

x4y HUgE M, HSgE m ol S W, M+-m o] gh& F5hH?

@ o @1 ® -1 @ 2 ® -2



P 4y*=5(y-1) =10 °

= 10xy-5(x+y) & sl& H=H o
W olE F5tH? o
® 3

@ ® 2 @

| W
N | Ot



l

o

2~
T

ﬂmo

L5

]

o

NERE:

x4 (k4 1Dx+2k+1

@ 6 ®7 @ 8 ® 9

@ 5



=
T

A xt-(2a-Dx+a+1=09F Za,p7t 2

et ol

S

xof o

10.

© o

@ 1

0O | <f

0|

10 |



11.

4+px+3=0,x>4+3x+p=00°] 23
ot ol W, @ - p ol #& 5HH?



)
=2

v o, 3k + a 9] 27 (T,

O|AT A A 3x2 — (k+ 1)x + 4k = 0, 3x2 + (2k — 1)x + k = 0°]

@1 @ 2 ® 3

@ 0



